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QUESTION 1

A site is load balancing to a pool of web servers. Which statement is true concerning BIG-IP\\'s ability to verify whether
the web servers are functioning properly or not?

A. Web server monitors can test the content of any page on the server.
B. Web server monitors always verify the contents of the index.html page.
C. Web server monitors can test whether the server\\'s address is reachable, but cannot test a page\\'s content.

D. Web server monitors can test the content of static web pages, but cannot test pages that would require the web
server to dynamically build content.

Correct Answer: A

QUESTION 2

Which IP address will the client address be changed to when SNAT automap is specified within a Virtual Server
configuration?

A. The floating self IP address on the VLAN where the packet leaves the system.
B. The floating self IP address on the VLAN where the packet arrives on the system.

C. It will alternate between the floating and non-floating self IP address on the VLAN where the packet leaves the
system so that port exhaustion is avoided.

D. It will alternate between the floating and non-floating self IP address on the VLAN where the packet arrives on the
system so that port exhaustion is avoided.

Correct Answer: A

QUESTION 3

A standard virtual server is defined with a pool and a SNAT using automap. All other settings for the virtual server are at
defaults. When client traffic is processed by the BIG-IP, what will occur to the IP addresses?

A. Traffic initiated by the pool members will have the source address translated to a self-IP address but the destination
address will not be changed.

B. Traffic initiated to the virtual server will have the destination address translated to a pool member\\'s address and the
source address translated to a self-IP address.

C. Traffic initiated by selected clients, based on their IP address, will have the source address translated to a self-IP
address but the destination will only be translated if the traffic is destined to the virtual server.

D. Traffic initiated to the virtual server will have the destination address translated to a pool member\\'s address and the

source address translated to a self-IP address. Traffic arriving destined to other destinations will have the source
translated to a self-IP address only.
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Correct Answer: B

QUESTION 4

The current status of a given pool is offline (red). Which condition could explain that state? Assume the descriptions
below include all monitors assigned for each scenario.

A. No monitors are currently assigned to any pool, member or node.
B. The pool has a monitor assigned to it, and none of the pool members passed the test.
C. The pool has a monitor assigned to it, and only some of the pool\\'s members passed the test.

D. A monitor is assigned to all nodes and all nodes have passed the test. The pool\\'s members have no specific
monitor assigned to them.

Correct Answer: B

QUESTION 5

Which is an advantage of terminating SSL communication at the BIG-IP rather than the ultimate web server?

A. Terminating SSL at the BIG-IP can eliminate SSL processing at the web servers.

B. Terminating SSL at the BIG-IP eliminates all UN-encrypted traffic from the internal network.

C. Terminating SSL at the BIG-IP eliminates the need to purchase SSL certificates from a certificate authority.

D. Terminating SSL at the BIG-IP eliminates the need to use SSL acceleration hardware anywhere in the network.

Correct Answer: A
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